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@
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Ve 90
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3
S0x10° _ 4167 w
60x 20
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Y. = j0.008x50 = j0.400 p.u.
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j7.333 - j16.47 0
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50
0.04=—>__
Poa = Pia
100
50.5-50 100
Pop — Plp = o 2 == =25
AT A =5 004
B Rg Pos
50.5-50
50
R, =— Y
B P —Ps
80
505-50 80 0.8
Pog—Pg=—(F—*x5—=5—
50 Ry Rg
+
0.8
(Poa + Pog) —(Pia + Pg) =25+—
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Rg
B = L =0.053333 —» 5.33
100-60-25
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. N,
Zis=—oTIX

=003 QO x=3 Q s=003
0.03

=——+]j3=1+j3 Q
is =003 ") J
Zs Q
. 03 . .
Zis=——+]j2=10+j2 Q
5 =503 J J
@

Z' _ 1 _ ZisZOS
271 1 7 47

—_—t— iS+ 0s

ZOS

Zi=1+j3 Q Zyi=10+j2 Q

C(1+j3)(10+j2) 4432 (4+j32)(11-j5) 204+ j332

27 1+j3+10+j2 11+j5 (11+j5)11-j5) 146

=1.3972+j2.2739 — 1.40+j227 Q
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Z, =1.3972% +2.2739? = 2.6688 O
E,=56 V Z,=26688 Q

I, = 56 =20983 —» 210 A
2.6688
C)
Ng min”™" f Hz
)
120f
ng=———
2p

f=60 Hz 2p=4

= 12060 1800 mint
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T, - 60 P,
2mNg
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T Nm
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T=3. 1,%r,

1,=20983 A r,=13972 Q ng=1800 min™"
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IX—mM
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3
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V, 6300
( IRs
PL25:298 W
Ry=tzs - 28 47310 o
1> 7.9365
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Vo=58 V
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I, 7.9365
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X, :sz— R,? =+/7.3080% —4.7310? =55699 —> 557

a V, V
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Ry Q
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310 235+t
P =P, | ——— |+(P,, - P,)| ———
* “(235“) (P °‘)( 310 j
- 289.74><(ij+ (298 289.74)[—235 i 25)
235+ 25 310

=3454592+6.9277=35238 — 352 W

A
(£ Puis W
W
Prss =P+ P

Pi=137 W

P ;s =352.38+137=48938 W
Po W cosé
Py = Pcosd =50x10°x 0.8 =40000 W
P, W
P, = Py + P ;5 =40000+489.38 =40489.38 W

n
’7=&X100=ﬂx100=98791 — 0838
P 40489.38

-19 -



©)
75 75 P7s

35238

7 x100=0.70476
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G7s

075 = Q25

&
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€Y
1

Y(9)=[U®)- X(6)

X(s)= S—S{Y(s)—% X(s)}

X(s)
50s
X(s)= s +25Y(S)
' X(s) u(s) Y(s)
G(5)
CY(s)  s%+25
()= U(s) s(s?+75)
1 50 1 s? +25
@ s (0 s © 2s (@ s(s® +75)
@
s=+j75 =543
5J3 rad/s
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